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Part] : GENERAL MENTAL ABILITY TEST
Part Il :Language Comprehensive test
Part lll : Scholastic Aptitude Test

Part | : Time 45 minutes Max marks : 50
{For Physically Challenged group 60 minuts)
Part Il :
Time 45 minutes Max Marks 50
(ForPhysically Challenged Group 60 minutes)
Time 1% hours Max Marks 100
{(For Physically Challenged group 2 hours)
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
answer the questions. Answers should be given on
a SEPARATE ANSWER SHEET :

1. Please write your Centre Code No. and Roll No.
very clearly (only one digitin one block) as given
in your Admit Card. No block Is left unfilled
and Zeros appearing in the Centre Code No. and
Roll No. are correctly transferred to
the appropriate blocks on the booklet and on the
Answer Sheet. For sxample, a student
appearing from the first centre of Lucknow for
{Centre Code No. 0042) N.T.S. with Roll No.
7 will make entries as below :

State Code Yoar Centre Code Boll Mo, In Fizures
E;E [1Te] [o]eT<]2] [oTo]7

Your Centre Code MNo. and Roll No. shall
remain the sarme as given on your Admit Card.



10.
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12

13.
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This test bookiet is divided into three parts, Padt |
contains 50 questions of General Mental Ability Tesl
Pant |l is Language, contains 50 questions each of
Hindi and English compreheénsive Test in which
candidale is to attempt only one language paper
either of Hindi or of English.Part Ill contains 100
questions of Aptitude test, all the question is 1o be
attempled.

3. Al questions camy one mark each,

10.

1.

12.

Since all queslions are com , do not spand

. puisory,
time in reading through the whole queslion paper

before beginning to answer it.

Begin wilth the first queslion and keep on irying
one quastion after another till you finish it.

If you do not know the answer 1o any quastion, do
not spend much time on it and pass on fo lhe nex
one, If ime permits, you can come back lo the
questions which you have left in the first instance
and Iry them again.

Since tha time allotied for the question paper s
very limited, you should make the best uss of it by
not spending foo much time on any one question

Blank pages have been provided for rough work at
the end of {est bocklels,

Remember, you have to mark answer on the
separale Answer Sheel

Answer Sheel has three specific partie. Pant i,Part
Il and Part lll Candidate is o answer the guestion
of Part | (General Mental Abillity Tast) from serial no.
01 1o 50, Part-ll (language Comprehensive Tesl)
from serial no. 51 10 100 and Part-Ill {Aptilude test)

from 101 to 200.

Angwer to each guestlion is fo be indicated by
writing the number of the comedt altemative in the
answer sheet in the box provided againsi each
queslion.

Immedialely after 45 minutes (60 minules for
physically challenged group) you should start
attempting Part |l language comprehensive lest
and immediately afler 45 minutes (60 minutes for
physically challenged group) you should sian
atlempling part lll Aptitude Test.

. Mow start answering the queslions.

o g9 9% gR 3 P18 e appnie o v ol @ aRiRad w8 N o N 3 k)
NB. : Du r}q*_:nt_m'ite anything except the Cenire Code Mo., Roll No. and rough work, anywhere in the



GMAT - 2018
qug — | (Part-1)
FMrY AAReE aam odwer General Mental Ability Test

frder : wr 1—-6 % e U W 9 ug #) Direction : From question 1 to 6 each
T ¥ 1 9 30 9 &0 9 F 0 F9H question has four options. Out of them three
R e A A f= 8 e |
fir=1 ug @ wifed sk Sud e g o
A9 IER IHe W WE U Wen & e

options are alike and one is different from three
others. Find out the correct one which is

B different from rest.of the three-
1. (1) s ~ 1 (1) Red
@) N (2) Yellow
(3) T (3) Pink
(a) e (4) Blue
2. (1) GIMR
2 (1) GIMR @) KMPT
(2) KMPT 3) JLOS
BJEOS (4) DFIM
{4).DFIM
3. (1) RajyaSabha
3. (1) v W (2) Legislative Assembly
(2) fems I (3) Lok Sabha
(3) @ (4) Supreme Court
(4) wratea e
4. (1) 2401
4. (1) 2401 () 625
@) 625 (3) 4095
(3) 4005 (4) 1296
4) 1208

PNP-NTS-2018 (3) Contd.



S ®%@ 5. @ﬁ@

U SEEE- NS AT Bl s M
= Qa @ @ -8 (A @ ©)
1 2 3 4 1 2 3 4

fAdw : ye= 4 7 ¥ 12 ¥ vd% ¥ 9R % 2| Direction : Question 7 to 11 there are four
wavt - : @ 9t 3R B 2 g2} § W W # | termsifigures in each question. The terms right

T T ;@ e to the symbol : : have same relationship as the
o =S amr%Lﬂmﬁﬁtwntermsofthelaﬁsymbnl::Dutnfthefuur

¥ W 9E A @ W) ga & AR weaEs terms#figure one is missing, which is shown by
(?) fore & <wifan 7 ) udie WA @ SR UK (7). Four altemative are given for each ques-

fiToy 23 T 8w Awey o1 Wrew oge lion. Find out the correct alternative and write
o ket 2 T TR e e its number against the corresponding question
Y wRa on your answer sheet-

7. EHLP: GKPU :: CGKO : 7
7. EHLP:GKPU : : CGKO : ? .

) ExeT (1) EKPT
2) EsOT (@) EsOT
@) Fou (3} FioU
(@) FrPv WIEREN

8. CEHI:5::FUK:?
8 CEHI:5::FUK:?

(1) 6 () 6

(2) 8 (@) 8

@) 7 (3) 7

(4) 4 (@) 4

6 Eﬂﬂiﬁﬁ'ﬂllm:? 9. ltaly: Lira:: Japan: ?

(1) gam (1) Yuaan

(2) == (2) Kyat

(3) &= (3) Yen

) == (4) Taka

PNP-NTS-2018 (4) Contd.



10. 1290 : 6 :: 2394 : 7
1,
2
3

4.

11. G¥O8 HY : HEATH : : BAX HY 7

1.

9
13
B
7

mes
Fefimes

GIEG]

10. 1290 : 6 : : 2384 : ?
1. 8
2. 13
3 8
g 7

11, Durandcup : Football : : Uber.Cup: ?
1. Golf

Badminton

Hockey

Chess

I

12. Newton ; Force : | Heriz | 7
1. Frequency

Work

Power

o @ P

Intensity

e : wei 9§ 13 ¥ 18 doar/emgfy @ Direction : Question no. 1310 18 are based on
FoiE o amEnfia & | w29 F v /) the numberffigure series. One term is missing
ug gt 81 o wew fims (7 ) § <wifar 17 in each series which is indicated by question
21 weAl & A R T 9R el #§ ¥ T mark (7). Find out the missing term out of the
o (o) I HIRT @en S fA%ed W& four altematives given below on questions and
gf;?w““mmmameramatahemaﬁvsnumhaﬁ

13.2,7,22,67,202,?

1. 608

A oW N

607
576
488

PNP-NTS-2018

13 2, 7,22, 67,202, 7
1. 609
2. 607
3. 576
4. 498

) Contd.



14. 3,6,6,12,11,20,18,7, 7 14. 3,6,6,12, 11,20,18, 2,7

1. 25 27 1. 2527
2. 38,30 2. 36 30
3. 28,38 3 26,36
4 30 27 4. 30,27
15. 16, 18, 21,23, 28, 30, 7. 7 15, 18, 18, 21, 23, 28, 30, 9, 7
1. 38 32 1. 36,32
2. 39 37 2. 3937
3. 37,38 g 37, 309
4. 34,40 4, 34,40
16. 2, 9, 28,65, 126, 7 16. 2, 9, 28, 85, 126, 7
1. 217 1. 217
2. 198 2. 198
3. 218 3 28
a 2% 4 28
T GITTE"‘I'&T Question Figures
e fofiod 2 T fc iofiod 2
Gl i Answer Figures.
X (j[)li:j((j OXC NOOOICCCOX
1 2 3 4 1 2 3 4

PNP-NTS-2018 {6} Contd.



Basl Wﬁﬁ Cluestion Figures

18.

RSRANE Qa9

WY sngft Answer Figures
Q99| A R E YA

e - e w19 ¥ 23 3l & fAf¥eda Directions @ for Question No. 19 to 23 are
79 o amEnia 2| R fRA 1A 9w § 36 based on definite series of letters. In the follow-
W Reg & o9 — 9 <ulw mr 2y F@ﬁ;ing questions some places are missing. Find
@ AR R T IR R § 9 TF Fout the correct answer for every question-

R wr & g ser w8 w9 & g M &)

frdlt v wel fasrew @ ugE Sifog-

19, -ER-F-R-FE-K 19. ~ER~F-R-FE-K
(1) KEFKR (1) KEFKR
(2) EKFKR (2) EKFKR
(3) FKEKR (3) FKEKR
(4) FEREF (4) FEREF

20 —=K=W-KX-V-= 20 ==K=-W=KX=V==
(1) WYXVWKX (1) WVXVWKX
(2) WXVWVXK- 2) WXVWVXK
(8) XWVKVKV (3) XWVKVKYV
(@) VKXWVKX (4) VKXWVKX

21, ——L-H-LO-UL- 2. -==L=H=-LC-UL-
(1) OHUOHU {1) OHUOHU
2) HUOQUHO 2) HUOUHO
(3) UODHUOH (3) UOHUOH
(4) OUHUHO (4) OUHUHO

PNP-NTS-2018 o Contd.



22 == M=|=MP=-YM- 22==M=1=MP =M -

(1) vPIPVI (1) VPIPVI
(2) PVIPIV ) PVIPIV
3) IVPVPI 3) IVPVPI
() IVPVIP @ 1vevip
23. -HU-1-U=IH-N 23 ~HU=I-U=IH=N
(1) IHNUH ) THNUH
@ IUNOH 2 IUNOH
RN 3 INHNU
4 NHUHN {4 NHUHN

Frdar we ¥, 24 31 28 A 78l & 79T PH B Direction : In question no. 24 to 28 the equation
FROT WEHT B TGO T s‘r Bk 2| Wd% have become incorrect due to wrong order of
ye @ - 43 T8 °ar fawedl W @8 # signs. Find out the correct order of sign

g m Gﬁ?jﬁa‘z RrEe e EF?II m_}f“ : z:z::ative} from the four alternatives given

TIRUF U¥ TEl WY e & "y fafad—

24, 15-3+5x12=13 24.15-3+5x12=13
(1) x—=+= (1) x-—+=
@ +x-= L
@ -x=+ B S
(4) +-x= 5
25.3+44-6x13=5 25.3+4-6x13=5
(1) x+-= (1) x+-=
{2) +-x%= (2) +-x=
@) - +x= @) - +x=
(@) =x-+ (4) =x-+

PNP-NTS-2018 (8) Contd,



28.12+4-2+3=7

() +=-+=

2) +=4+-

@) —++s=

(@) ++==
27.24=8+3+4x%x13

(1) ++x=

@) x++=

(A +x+=

4] ==+x
28.3+5=2-8x9

(1) x+-=

@) +-x=

ER

{4) %x+=-

26.12+4-2+-3=7

(1) +=+=

2y +=2+=

@) —++=

{4) +4-=
27.24=8+3+4x13

(1) ++x=

(@) x++=

(A +x4=

4) =++x
28.3+5=2-8x9

(1) x+-=

(2) +-x=

(3) =+-x

() x+=-

i we wem 29 9 33 # Fem 1% 2 T Direction in Questions 29 to 33 the letters in
&R BT BTEH 11 H Tdaid! @ w9 § o T column | are coded in the form of digits, which
2, A5 3t & P &) 21eRY B WIaieT is written in the column 1. But the order of digits
®1 &9 ¥ ufed s guftr aun e 29 73 is different. Identify correct code of letters. Find
TRE U P TR @ fov 2% 18 9w fiwsdl out the correct alternative for each question-
i ¥ wh Ree @1 @ftn v sueh wen
(Rrea Ta) &Y A9 ITR-93 W 98 ¥

e & ame fafad-
A |

BLO
EPL
PJT
JNS
NLB

RTJ

29. LIN Y152 91 $18 T 8-

(1) 713
2) 910
(3) &10
(4) 817

PNP-NTS-2018

&eH 1l

369
279
175
018
309
451

Column 1

BLO
EPL
PJT
JNS
NLB

RTJ

29. What will be the code of word LIN-

(1) 713
(2) 910
(3) 810
(4) 817

(9)

Column 11

369
279
175
018
309
451



30. BTS g &1 IS T 8- 30, What will be the code of word BTS~

(1) 431 (1) 431
(2) 850 (2) 850
(3) 358 (3) 358
(4) 258 (4) 250
31, REP ¥&g &1 #I a1 BT 31, What will be the code of word REP—
(1) 437 (1) 437
(2) 671 (2) 671
(3) s27 (3) s27
(a) a2 (a) 427
32 OPS & & Hie & BI— 32. What will be the code of word OPS-
(1) 678 (1) 678
(2) 873 (2) 873
(3) 708 (3) 708
(a) 362 ' (4) 362
33, LBT 5 &1 &I 1 BNl— 33. What will be the code of word LBT-
(1) 369 (1) 369
(2) 935 (2) 935
() 29 (@) 529
{4) 265 (4) 365

frder ue 34 § 38 ¥ wemd w fady frg Direction: In Question nos. 34 to 38 are placed on

¥ ﬁﬁlﬁ?ﬁg 11%% ! Hf?:gﬂfﬁ? ?;ﬁi TN B the basis of some rules. In each question cne number
T - f YT T . . i i

: : is left vacant which is indicated by ( ? ). Find outthe
il@ﬁaﬁﬁ ﬁ&mﬁ;ﬁg ) ar :ﬁi comect alternative in each question-

TS R GE) ¥R e @ anm fofEag-

34, % .
4 5 7 4 9 7 4 5 7 4 9
18 ? 19 18 ?
17 21 9 17 21

-
ol ©

(1y 17 (1) 17
(2) 18 (2) 18
(3) 15 (3 15
(4) 16 (4) 16

PNP-NTS-2018 (10) Contd.



35. as,

B 4 4 9 6 4 5 8
3 2 3 10
8 6 8 4

(1) 8 (1 8

2 6 2 6

@ 7 @ 7

4 9 (4 9

(1) 6 (1) 6
(2) 11 2 11
(3) 9 (3) 9
(4) 8 4) 8

PNP-NTS-2018 {11) Contd.



38, 38.
6 & g 8 4 g 6 8 9 B8 4 9
7 8 ? It g s
9 10 5 9 10 5

(1) 8 (1) 9

(2} 7 2y 7
(3) 8 (3) 8
{4) B {4) 6

39, 9AY B AR T F¥A §Y fren wedr # 39. By pointing towards Umesh Gita says that

5 OE WY he is the grand-father of my elder son
TR T LR B AT &) A I Remesh: What is the relation between Gita

o A @ T - and Umesh—

(1) oftom (1) Brother in-law
(@) fom (2) Father

(3) % (3) Uncle (Paternal)
(4) W (4} Uncle {maternal)

WOPHTRIRPHAMEITRA 40. If O is the sister of P, R is the father of P, Tis
o 2 O O T TV T G BT- the sister of R. What will be relation between

Oand T -
(1) 3o {1} Aunty (Father's sister)
2) @EA (2) Sister
@) Tl (3) Neice
@ (4) Daughter

PNP-NTS-2018 {(12) Contd.



frdfer: wot W= 41 W 45 Fy=iRiRe o Direction : Question no. 41 to 45 are based on
w e &1 ga @ ®m ¥ 9y T the informtion. Read the information carefully
we 9 B A R md 9 Ried | 9 i"‘l‘ﬁl and find out the correct alternative for each
ﬁmzﬁrmﬁaﬁmaﬁ'ﬁmﬂmfﬂmwﬁmm

P AT FEY 9 U WE 9 H& B 9

forfaa— R has four brothers named S, T, U and V. In

aT — R® ar 1§ #1 S, T, U sl v &) which T is elder than U, but younger than S, S
R ATUD a1 & ofm S8 wier B1is slder than R and T, but younger than V, R is
S.RlR TH g1 & @fd" VA BT & R, U elder than U, but youngerthan T.

} 99 & A T v &
4. Z5 G 99 P -

41. Who is the'eldest among them-

(1) v (v
@ R () R
@) T @T
@) s (4) S
42. 395 | WEY B B4 &- 42. Who is the youngest among them-—
(1) s (1) 8
@T @T
8 R @) R
() U @u
43 37H | 99 # o - 43. Who is at the middle order among them—
(1) s () s
@ @T
() R (3) R
ORY : (4)
4.8 A TR A f;ﬂi &Y G¥ P o— 44. Whois at the second from top order among
1) R them-—
EE; T (1) R
(@3) s Ez; T
3) S
@u O
45?,qﬁﬁ:ﬁ%ﬁmﬁqqqaﬁqg_ 45, Who is at the second from bottam order
among them-
T 1T
@ R @) R
(B) U (3) U
@) s (4) S
PNP-NTS-2018 {13) Contd,
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46, afe ey wre @1 wlien AMHar 2241 f2 8, 46. 1 the'fourth Saturday of a month is 22nd days

ot w2 @ 139 2w P W -
(1) "R

(2) geram

(3) gEwfaar

(4) =faEr

fereax 2009 # B9 @ 29 gn-
(1) zfdar

(2) gaR

(3) gewftar

(4) wivarR

then 13th day of the maonth will be which day—
(1) Tuesday

(2) Wednesday

(3) Thursday

{4} Sunday

47. 9f% 15 ficia¥ 2008 @1 YPHAR o1 1 15 47.1f on the 15th September 2008 was a

Friday. Then which day will be on 15th
September 2009-

(1) Sunday
(2) Friday
(3) Thursday

(4) Saturday

,ﬁ'—’mmmw%%a fad) afgor 3 48. Dinesh home is two Km. South from his

? 71 Wl @1 R Ay @ ur @ <) el
qd # 3| o Wiy B o) wE & few R
¥ 8-

(1) I ofeem

(2) =fEror of¥am

(3) R o

(4) wfror g

3 fFd) TR @ AR aear €1 o 98 A
e arel e ¥ R o wE-

(1) e &
{2) 7
(3) 5
(4) 6 il
. U QMR U 8% 9 TR BI SR o
2| 5 98 eri year 2| AR s e

3R v 9 g & | o g8 fore fRan
AR T T B-

(1) SR
@) o
(3) =févor
{4) uf¥em

e 8

$

(14)

school and Satish's home is two Km. in the
East from Dinesh home what will be tha
direction of Satish's home—

(1) North West
{2) South West
{3) North East

(4) South East

49, U T 4 TI& @1 3l e & fisv 49.A man moves 4 km towards East. Then

moves 3 km. towards North. How far he is
from the starting point—

(1) 8 Km
(2) 7 Km
(3) 5 Km
(4) 8 Km

50. A person is going towards north from his

home then he tums right and then tumn to
right, again he turns to the left. Now is which
direction is he going-

{1) North

{2) East

{3) South

(4) West

Contd.



grs — |l

fa=aY

51-55 : A8 fRA A T B TGS UfEY @7 U WEAT 51-55 9F B IR TF TG
T AR W Efag—

T TRl # AN A 78 mwen A ) T R W T A <D ¥ wER wg
o1 vd s &Y arferersh e, aifae & st gt silv dead 9 aftrerh wett
A § ) Tl @ g A W vEe) Wt R 3 ot wef o 4 R
€| gwy o Pl dra A smer € 7€) By ofieT @ e &, W o T 51 agd
afmal W e B @ forg =9 @ v @ w9 Wire @ T T uear 8 wE
98 e Fxar &, ot Rod Ruftal # wa 4 9o @ el dior &1 S weshy §
IR AR BT I BN B @ 98 ey 2| e oF o g wift i 2ot e
@ ¥ B "o |

51. ORI T # AN @ 59 wu B av A e wan -
(1) 9 wd f&ds
(2) dvsd
(3) o
(4) Qwrd
52. ) fFH PR ¥ <) FT WU IR FW T B-
(1) Y&y B B T B fag
(2) amfere wif & forg
(3) Sl W B S B R
(4) Gl B &w B for
53, o9 TeyY F A & qiaE Rl @ Awg § s wde e 2
(1) T & == Rafy sl 2
(2) T @1 wkar Refy wrerea 2
@) T P e Ry e #
() =8 Bt wdar Rerfey sl 2

PNP-NTS-2018 (18) Contd.



54. ' %5 o1 foudemds §—
(1) fmme
(2) fFafor
(3) wom
(4) forziw
55, XA W 1 vrAref i #-
(1) Wt
(2) T
(3) &rom—arfor
(4) o
56. W ¥ @M A v g Sae o -
(1) foraen
(2) amen witg
(3) &=
(4) T _
57. O B¢ AEF FYA Sig B geARl @ aofF W R § O 98 YEE HEaR) 2
(1) s Fen
(2) e
(3) GER9
(a) Yefer
58, A=Y wifeey @1 woign fa @@ & oy W -
(1) dRamerT HTed
(2) Aftrprer
(3) amgfves el
(4) wfem w1

PNP-NTS-2018 {17 Contd.



59, Yol e WY @ WG 7 -
(1) |+ 1943 g0
(2) w1954 %0
(3) W 1938 %o
(4) Hﬂwaaéﬁ
60. BRIMIE! Bfe B -
{1) SEAPR A
(2) e s fasev
(3) sRaw wg T+
(@) HRrelRre 1<
61. g ¥ BN W Ty AfFIwE & 8-
(1) e v
(2) =
(3) FTATa
(4) waRa aFa
62. DI WETHTE 3 vafEr €
(1) g 9a
(2) gerears
(3) WGBTS
(4) =afer Ao
63. GfArTeA Ua B W) 5 O W e R -
ORECL
(2) oo
(3) drom
(¢) rFraT

PNP-NTS-2018 (18)

Contd.



4. ‘gaeair fe Rem o o 8-
(1) Sgur=
) e
(3) wET
(4) wERO
65. ‘STEIT UR®T @ HHGS §-

(1) A=eg eRves
(2) wag IREY Ay

(3) Wi HE
(4) wEd gnt

66, Tl DS B FEHT D AT -
(1) wron @ fiig
(2) v wre
(3) wemyE W
(4) g Sreem G
67. BT Hfa @ 8-
(1) FOETR gHS
(2} e
(3) wRiepict Fardt Frer
(4) wERd anf
m.ﬁmwmﬁ%—
(1) TheTTs
(2) T=@T
(3) ¥ sra UF g
(4) M=
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60. FETPN FEAEE Fa o & wRfR B E

(1) oA
(2) sy
(3) SmmsY
(4) STTSRAY
70. AT B OR7 AW B—
(1) wfteEr= R T
(2) T AT
(3) i FAmwy
(a) srdiear fig Soreog
MW, W, W, ¥ 9 F% W -
(1) I ===
(2) &1 ==
(3) Wy =
(4) gl =T
72. “TforTEe’ WEl B ISR B
(1) smm™r
(2) ST
(3) Forer
(#) ®fa
73, ‘WEEEE WA TE 8-
(1) Rruai
(2) freit
@)
(4) B
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74. e # 950 YR pAd Ra ¥ 39 aqrew # yhRme &

(1) s
(2) sga
B) =
(4) e
75. B T SNfAT -
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70. foar & Rore ®9 @ @ wan = & fbar yoer # st Simcanti-orl wwa g -
B FIA B FEA B

80, M & SN @ G IET or gy g
(1) W A1
(2) B @
(3) WgF T
(4) TeaTaS T
gt. A ey -
(1) T
(2) agwa
(3) <=
(4) W
82. TR’ I Td EN-
(1) &=
(2) uret
(3) wET$

(4) faftswmr
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ga. ‘e o1 wfu—fmT Bm-
(1) PrR+gar
@) frd+dw
@) fr+dw
{4) frfResw
84. IPE W o1 facim B-
(1) s
(2) fige
(8) mm
(a) st
gs. ‘ot Pt ggT 7 Er— 39 A B AU TYE BN A UF e B
(1) I
(2) s
(3) oo
(4) st
86, ‘&raT were et gRar e o ol -
(1) ¥=n FB N T8 99 T8
(2) st ofsm &9 &
(3) =2 s @l
(4) arear Py W R gearT @Y @
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87, 'JAM T TS RN o I -
(1) 3 i Arw
(2) et st g
(3) =a alRsm &=
(4) @ g

88, Y@ dal alen IE B
(1) enfimaf
(2) anfifars
(3) amefars
(4) amdiraig

go. 'Rurer ¥ T Frpere & a9 § wgw W IR ¥ FRS -
(1) 4
(2) &1
(3) e
(a) wRIET

g0, 3l o Yo e o W |
T HA B B D EA |
g M 7 F o P Al |
R & T/ T A |
T W@ T g8 HAR |
T R AR
wodga dfkml A @ 8-
(1) S v
(2} 9=
(3) W wE
(4) =9
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o1, A ¥ BT ) AT B
(1) wm
2) v
(3) weme
(4) oz

92. Yol TV # 16 WIAT 91O, TN TN BT T AAE o= -

(1) g
(2) wver
(3) <lars
(4) Frem
93. TRV e 9t s dfeT A arlerR 8-
(1} ST
(2) wum
(3) e
(4) 7w
84. T W H WA B
(1) w1
(2) @
() am
(4) 3% & B TEl
05, P AR Teg T B Mg A& o a1 #-
(1) W
(2) o®
(3) e

(4) wreeie
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o6, U1 WfRT BT TEOT B
(1) v
2) o
< (3) @
) ey
o7. e T § TEET TR WA B 8-
(1) g W
+2) _MWW
- () Ty e
(4) 8= W
gs. ‘gl Afdw wes H wATH 8-
(1) sreadl w19 T
(2) TgHY T
(3) FHHRA THE
(4) agdfd v
99, T 2ATHT TEH! B AN ¥ AYE -
(1) s waRl
(2) Td=m wea=h
(3) faergur wgd
() geet W
100. SRy weg @1 fadim 8-
(1) et
(@) T
(3) wicrag
(4) Bt
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Part i
ENGLISH

51-56. Read the following passage and answer the question that follow—

51.

Speech is a great blessing but it can also be a great curse, for while it helps us to make
our intentions and desires known to our fellows, it can also, if we use it carelessly, make
our attitude completely misunderstood. A slip of the tongue, the use of an unusual word,
or of an ambiguous word, and so on, may create an enemy where we had hupeci to win
a friend. Again, different classes of people use different vocabularies, and the ordinary
speech of an educated man may strike an uneducated listener as pompous. Unwittingly,
we may use a word which bears a different meaning to our listener from what it does to
men of our own class. Thus speech is not a gift to use lightly without thought, but one
which demands careful handling. Only a fool will express himself alike to all kinds and

conditions of men.

Speech can be a curse, because it can—
{1) reveal our intentions

(2) lead to carelessness

(3) hurt others

{4) creat misunderstanding

A ‘slip of tongue’ means something said—
(1) unintentionally

{2) wrongly by chance

(3) without giving proper thought

(4) to hurt another person

The word ‘speech’ is—

(1) Noun

(2) Verb

(3} Adjective

(4) Adverb

What is the opposite of the word ‘educated'-
(1) illiterate

(2) uneducated

(3) eneligible

(4). unstudious
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95.

58.

While talking to an uneducated person, we should use— :

(1) Polite language |

(2) ordinary speech

{(3) his vocabulary

(4} simple words

If one used the same style of rangl_.lage with everyone, one would sound-
(1) democratic

{2) foolish

{3) boring

(4} flat

Direction : (for question nos. 57-58) The following six sentences come from a paragraph. The
first and last sentences are given; choose the order in which the four sentence (PQRS) should
appear to complete the paragraph.

S7.

» 3O

=

o © g

o

1. When a satellite is launched, the rocket begins by going slowly upwards through the
air.

As a result there is less friction
For the atmosphere bgcomes thinner
As the rocket goes higher, it travels faster

However, the higher it goes, the less air it needs
Consequently, the rocket still does not become so hot.

() RSQP (2)RAPS (IPPQARS APRSQ
1. A man can be physically confined whithin stone walls.
But his mind and spirit will still be free

His hopes and aspirations still remain with him.

Thus his freedom of action ma‘y be restricted

Hence, he will be free spiritually if not physically

Soon you will realize that this is an exciting task

(1)SPQR {(2QRPS (3) PQRS (4SQPR
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Direction : (for question nos. 58-80) You are provided with the first and last parts of a sentence,
The remaining sentence is broken into four parts labelled (P), (Q), (R), and (S). You are required
to arrange these parts so as to form a complete meaningful sentence and then choose the
correct combination.

59. lwas

P.  and stay for a few days in Delhi
Q. when my father told me
; :

very excited

S. _that | could go with him
(MPQRS (2JQRSP (3 RQSP (4SPQR
60. Milton said that—
P.  those persons
Q. would be damned
R. whodo not obey
S. God's commands

()PQRS (2JPRSQ (3) QRPS (4RSPQ

81-65 Directions: Pick out the most effective word from the given words to fill in the blank to
make the sentence meaningfully complete.

61. I will be leaving for Delhitonightand ............ to return by this weekend.
(1) Waiting
{2) Plan
(3) Going
{4) Likely

62. Heistoo........... to be deceived easily.
{1) Strong
(2) Modem
(3} Kind
(4) Intelligent
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63.

65.

The Police have ..........

(1) Eviered
(2) Lodged:
(3) Registered
(4) Noted

a complaint against four persons.

Heis 80 ............. of his own idea that he will not entertain any suggestion from others.

{1) Enamoured
{2) Enchanted

{3) Hopeful
{4) Jealous

After consultinga ........

(1) Chair
(2) String
(3) Mass
(4) series

....... of doctors he eventually thought of consulting a specialist.

66-70 Select the word which means the opposite of the given word-

66.

67.

Nadir—

{1) Progress
{2) liberty

{3) Zenith

(4) Modermnity
Knowledge—
{1) Ignorance
{2) Niteracy

(3) Foolishness
(4) Backwardness
Beautiful-

{1) Ugly

{2) Dark

{(3) Rough

(4} Dirty

PNP-NTS-2018
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€9. Appointment-
(1) Disappointment
{2) Suspension
(3) Dismissal
(4) Discharge
70. Humble-
(1) Dominant
(2) Proud
(3) Despotic
(4) Pompous

71-80.  Inthe following passage there are some numbered blanks, fill in the blanks by selecting
the most appropriate word from the options given below—
Interviews are very important for all of us. We must face interview with confidence.

There is (71) any persons who at one time or the other has not (72) an interview sityation.
While (73) are aday to.day (74) for people (75) with others in their daily chores, we are here
(76) with interview situations when one is a (77) aspiring for an (78) such situations not very
(79) happen in one's life, are (80). When the candidate fikes to come on top of the situation.

This calls for careful study and preparation.
71. (1) perhaps (2) hardly (3) probably (4) possibly
72, (1) known (2) taced '(3) measurad (4) seen
73. (1) interviews (2) discussions(3) meetings (4) seminars
74, (1) possibility (2) feeling  {3) happeﬁing (4) experience

75, (1) interact (2) speak  (3) react {4) concemn
76. (1) meseting (2) concemed (3) involved  {4) interested
77 (1) beggar {2) candidate (3) person  (4) student

78. (1) employment (2) estimation (3)elevation (4) establishment

79. (§ frequent (2) happy (3)important (4) consquent
80 {1) minutes (2) times (3) hour (4) occasions
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81-85 In each of the following questions out of the alternatives, choose the one
word which is nearest in meaning to the given word.

81. Candid-
(1) Sincere
(2) Polite
(3) Frank
{4) Rude
82. Optimistic-
(1) Optician
{2) Favourable
(3) Wighful
(4) Hopeful
83. Ambition-
(1) Expection
(2) Desire
(3) Aspiration
(4) Goal
84. Drowsy-
(1) Soothing
(2) Lazy
(3) Exhusted
{4) Sleepy
85. Exclusive-
(1) Extensive
{2) Sole
(3) Extenal

{4) Excessive
PNP-NTS-2018 (32} Contd,



Direction : In each of the following question, choose the most sultable “One word” for the
given expressions.

86. An office or post with no work but high pay.
(1) Honorary
{2) Sinecure
(3) Gratis
(4) Ex-officio
87. Walkingin sleep-
{1). Somniloguism
(2} Somnambulism
(3) Obsession
{(4) Hallucinaticn
88. A person who regards the whole world as his country-
(1) Patriot
(2) Nationalist
(3) Cosmopaolitan
{(4) Metropolitan
89. One who totally abstains from alcoholic drinks-
{1} Puritan
(2) Samaritan
(3) Pedant
(4) Teetotaller
90. Time after twilight and before night-
(1) Evening
(2} Dawn
(3) Dusk
(4) Eclipse
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Direction: In each of the following questions, a word has been written in four different ways out
of which only one is correctly spelt.

Find the correctly spelt word.
91. (1) Entreprenuer
(2) Enterpraneur
(3) Entrapreneur
{4y Entreprenaur
92. (1) Commission
{2) Comision
{3) Comission
{(4) Commision
93. (1) Jewelery
(2) Jewellry
(3) Jwellry
{4) Jewellery
94, {1) Argument
{2) Arguemant
(3) Argumant
{4) Arguement
85 (1) Forein
{2) Fariegn
{3) Foregn
{4) Foreign
96-100 Select the meaning of the given Phrases/idioms.
98. To give up the ghost-
(1) Todie
{2) To make false appearance
{3) To terrify others by acting in suspicious manner

(4) To leave uselgss pursuits
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97.

99.

100.

To get into hot waters-

{1} To be impatient

(2} To suffer a huge financial loss
(3) To getinto trouble

(4) To be in a confused state of mind
To read between the lines-

{1) To concentrate

(2] To read carefully

(3) To suspect

{4) To grasp the hidden meaning
All and sundry—

(1) Greater share

{2) Completion of work

{3} All of a sudden

{4) Everyone without distinction
French leave—

(1) long absence

(2) leave on the pretest iliness
{3) Casuzlieave

{4) Absence without permission

PNP-NTS-2018 {38)
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SAT-2018

ol

(Part - lll)

Science

101. A rere A faega i & wars HaradE @ 101. Opposition of flow of electric current is

o FHEA e

(1) g

(2) Forger o

(3) wRrder

(4) forgga graapta SRV

102.
TE 8-
(1) =
(2) Wae
(3} fafasor
(@) g7 & oS =8

103.
T # g9 A BM-

(1) 1 a5 &R
(2) 10 @ ¥
(3) 100 ¥9 TR
(4) 1000 =7 Wi

IR IO~ BT B
(1) Sa amgRr ol T A

104.

(2) o & |
(3) WY U9 el @Y |
(4) SreeE TE SFTEd HH 9§

PNP-NTS-2018

104.

(37)

called-

(1) Potential difference
(2) Electric charge

(3) Resistance

{4) Electromagnetic Induction

fr=ifefaa # fews form weam aEea@ 102, Which of these does not require a medium—

{1) Conduction
(2) Convection
(3) Radiation

{(4) None of these

U HI9S U P GIRaT 1 ¢llex 81 w9 103. Capacity of a measuring flask is 1 litre.

what it will be in cubic centimetre—
(1)1 Cubic Centimetre

(2) 10 Cubic Centimetre

(3) 100 Cubic Centimetre

{4) 1000 Cubic Centimetre

Moise is produced by-

(1) Vibration with high frequency
(2) Regular vibration
{3) Regular and periodic vibration

(4) Irregular and non periodic vibration

Contd.



105. ¥&Ta B o dw @ o R 105. A ray passing through which part of a lens

106.

107.

PNP-NTS-2018

auRaffa freed -
(1) wiwa
(2) awmen Frem

(3) vl fasg
(4) P1@w AR ama B & A8 9

emerges undeviated—

(1) Focus
{2) Centre of curvature

(3) Optical centre

(4) between Focus and centre of curvature

Rt wirrere 1 Rl AR A A= 406 14 convert temperature in °F into °C we use

qaﬁmmrn%—

-32
(1) mu lﬁl.l

(2) -:'S;I[F 32)
(3) F=l;1C-32}

(4) E=%{F~32]

the formula-
c ]

(1) rrisis
) c-

(3) F=-3{C-32I

ller—m

(a) |:=f5".'[F-3:j

i g@ arafls TR A H8 7w 107. A swimming pool appears less deeper than

fears aam &-

(1) SR @ RV
(2) araets @ HIRoT
(3) avt fagmw & PR

(4) uredfa faReTes @ SN

w® @l &1 gdm 3R ufefam & = B
A -

(1) 4 AR

(2) & #rex

(3) 2 Hrex

(4) 6 ¥R

(38)

its real depth-

(1) due to reflection
(2) due to refraction
(3) due to dispersion

(4) due to lateral displacement

% i wWae 9O A 4 Mex @ gt 108. A person is standing 4m away from plane

mirror. Distance between mirror and
image is—
(1) 4 metre

(2) 8 metre
(3) 2 metre
(4) 6 metre
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100, 9 B ﬁiﬁlﬁ'ﬂr\' A Tl I F 108. According to law of floatation weight of a

IR B

(1) fenfig g9 & N @ WA
(2) fawafia gg & s & R
(3) fewenf 7g & ¥R | st
(4) Frenfi 27 @ MR Q@ B

floating body is-

(1) Equal to the weight of liquid displaced
t2) Equalto the volume of liquid displaced
(3) Isgreater thanthe weight of liquid displaced
(4) Isless than the weight of liquid displaced

10, 2 @ @ 3t AR AoMFH 3R WK 410, Two resistance each of 2 ohm are con-
F9 § AT wire T | aitRE @

Ty iR 8-
M4 .10
1 .4 Q
B2 .20
4)aQ .4 Q

nected in series and in parellel separately.
Equivalent resistance is—

(14Q .1 0

@10 40

B 20 .2 0

@ a0 4 0

11, &€ 1 ABUE ATell Ge BT AIFIA 8~ 141, Time period of second’s needle of clock—

(1) 1 fFe
(2) 1 =
(3) 12 "e1

(a) 24 Her

112 2 oo gdv @ meawd) avg B fFaT 412,

wftifarr ai—
(1) Pt TF
(2) =
(3) s
(4) 37 & &g wE
113. <X 3fic <9 # fiferg s 8-
(1) e W
(2) Y & wse
(3) ¥ & 9
(4) a3 famg W

PNP-NTS-2018

113.

{39)

(1) 1 Minute
{2) 1 Hour
(3) 12 Hour

(4) 24 Hour
If an object is placed between two plane
mirror,how many images will be formed-

(1) Only one

(2) Two

(3) Infinite

{4) Mone of these

In long sightedness images is formed-
(1) On Retina

(2) Infront of Retina

(3) Behind Retina

(4) On blind spot
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14, Frafefim 4 ardga eEgeEy 8-

118

116

17.

118,
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(1) g9
(2) WA
(3) uRres
(4) st

gl @ sievTigs @ Upiy B & 115,

(1) arelra
(2) &
(3) SwTeri
(4) Igrdm

mﬁﬁﬁﬁﬁﬂ'@%ﬁmﬁ?ﬁ%ﬁﬁ_

3 m‘a fiomy §—
(1) Riw ()
(2) ifaam
(3) fest
(4) cifen

frfefaa # @9 & aa § ¢ =1 % 17,

waifs &

(1) de

(o) fagfTa

(3) remaTEE

(4) formmge

WY iy o -
(1} Na

(2) Mg

(3) Cu

(4} Au

{40)

114,

118.

Unsaturated hydrocarbon among the
following is—

(1) Ethane

(2) Methane

(3) Ethylene

(4) Propane

Nature of oxides of non-metal is-
(1) acidic

(2) Basic

() Amphoteric

(4) Neutral

Stainless steel is an alloy in which follow-
ing is added along with Iron-

(1) Zinc

{2) Chromium

{3) Tin

{4) Cuppor

Which among the following coal contains
highest % of Carbon-

(1) Peat

(2) Bituminous

(3) Anthracite

(4) Lignite

Most reactive metal is —

{1) Na

(2) Ma

(3) Cu

(4) Au
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118.

120,

121.

122,

123,

PNP-NTS-2018

fsis @ar HCI &) fhar 9 a=iar 8-
(1) H,

@) N,

(3) CO,

(4) He

119,

1 #% A D g TR D 99 W 5T B 120,

(1) TR
(2) A
{3) T

{4) WERIH

@ 9 gy o= Wa ¥ afbw =F 121,

TSI T TRN 3
{(1) Na

(@) Mg

(3) Fe

{4) Zn

TRMRATET wiRed -
{1) dichiefA

(2) $o Fo o

(3) sdanET

{4) dfeisnd

T @ ofd T B
(1) 53 P B

(2) weR wE A
{3) o i A
(4) o wa |

122.

(41)

123.

Zinc and HCI React to form-
(1) H,

)N,

(3) CO,

(4) He

Which among the following non metal is
liguid at Room Temp—

(1) Chlorine
(2) Bromine
{3) Mercury
{4) Phosphorus

Which metal forms hydrogen gas when
reacts with cold water—

(1) Na
(2) Mg
(3) Fe

(4) Zn
Thermosetting plastic is—

(1) Polythene

(Z) PVC

(3) Beckalite

(4) Polypropene

Lens of Spectacles are made from—
{1) Soft Glass

(2) Hard Glass

(3) Pyrex Glass

(4) Flint Glass
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124,

125.

126,

127.

128.
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iy Ruaes # fipar SR 8-
(1) e R

f2) =iy AT

(3) Frafem e faaves
{a) 9vT 3yUEEH

Fdrpeof Sl @1 i 8-

(1) Praen

(2) Ggifer

(3) mfas 4

(4) T8 & W& A Tl

I FEEE W A & By AERI & 408

(1) M=

(2) 3o A

(3} ol |

(4) gomem

HIE 30 UFR B SISl BT 8— o7
(1) sa & 49

(2) w1 % wa

@) za AT

(@) m # Tre

g & B Ry sifa o wE 8-

(1) @ax

128.

(42)

124.

125,

The reaction that take place in nuclear
reactor is—

{1) Nuclear fusion

(2) Nuclear fission

{3) Controlled nuclear fission

{4) Double decomposition
Renewable source of energy is—
{1) Coal

(2) Petrolium

(3) Natural gas

(4) Energy of flowing water

Calcium carbide when reacts with water
gives—

{1} Methane gas

(2) Ethane gas

(3) Ethylene gas

(4) Ethyne gas

. What type of colloidal system is fog—

(1) Gas in liquid

(2) Liquid in gas

(3) Liquid in liquid

(4) Solid in gas

Which of these is not a viral disease—
(1) Measles

(2) Rabies

(3) Polio

(4} Tuberculosis



129

130

131

132.

133

134,

Ty W e 8-

(1) O @ B E

(2) wElgEge & S A

(3) & @ &N o

(8) 77 & o1d A

HIBIGICoEP TGS

{1) =raa

(2} 7 *

(3) W A

(4) qIGRT B

win wifrer G dwe 9
STl 2

(1) =t SR sty

(2) T wER Hitwesr

(3) WX @y

(4) 3= @ wrd A8

fpfafag # @14 wm Preed e |
et 8-

(1) s ol SRR

(2) suiffar ererofi off demmfey

(3) siftcreg & forg v

(a) Wil Ta= gRi STl @ wwiy

ar=arerdl v # orquRea geagh 8- 183,

(1) T

(2) gt

(3) tftrs

(4) wfewm

S, Srelt @ WO # ueRT R B
(1) HfemH weirrse

(2) vdifics s

(3) wgft® v

(4) ~fEm dmarge
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128.

130.

131.

132.

(43)

Marasmus occurs due to—
(1) Protein deficiency

{2) Carbohydrate deficiency
(3) Fat deficiency

(4) none of these

'Sonalika' is a variety of-

{1) Rice

{2) Wheat

{3) Maize

{4) Bajra

Blood cell without nucleus are—

(1) Red blood corpuscles
{2} White blood corpuscles
{3) Blood platelets

(4) None of these

Which of the following conclusion is
related to lamarck-

{1) Survival of the fittest

(2) Ipheritance of acquired character

(3} Struggle for existance

(4) Origin of specis by natural selection
Enzyme which is absent in pancreatic juice—
(1) Amylase

{2} Lipase

{3) Pepsin

{4) Trypsin

. Chemical used for preservating Jam and Jelly

is—

(1) Sodium Chloride
{2} Acetic acid

(3) Citric acid

(4) Sedium Benzoate

Conitd.



135,

136.

137,

138,

138,

140,

WA & A T -
(1) VitA

(2) Vit B,

(3) vitB,

(4) vitc

R.N.A ¥ arqafera av 8-

(3) T
(4) i

wam & O § Prefaieg 4 @ g 1o

TR B RFTT Bie &~
(1) ¥ wRTITOT

(2) arg gemTor

(3) ot GRTITT

(4) P WY
SIETeH TN 8-
(1) wmER

(2) =1
(3) =y
(4) F=1T%

Pt # & 9 Trafe nod w8 e 199

(1) Ryeaz fbm
(2) WY s
(3) vendT
(a) g

B.C.C. yRtRerr fg domd A qura 3 140.

forg 8-
(1) &
(@) =w
(3) feeww
(4) mAftes

PNP-NTS-2018

135.

136.

138.

(44)

Retinol is a common name of-
(1) VitA

(2) VitB,

(3) Vit B,

(4) vitc

Base which is absent in R.N.A-
(1) Guanine

(2) Adenine

(3} Uracit

(4) Thiamine

In maize plant the type of pollination is—

{1) Self Pollination

{2) Pollination by air

{3) Pollination by water

(4) Pollination by insects
Most primitive mammal is =
(1) BAT

(2) Rat

(3) Platypus

(4} Kangaroo

Which of the following is not a true fish—
(1) Silver fish

(2) Sea horse

(3) Flying fish

{4) Eel

B.C.G. is a vaccine for which disease-
(&} Cholera

(2) Measles

&) Titanus

(ﬂ Tuberculosis

Contd.
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142,

143.

<144,

145,
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amitee fagme

TART el & o 3 Prforiee 4 Ry 141,

TEY AT ARl WHI AR o0
(1) *f =
(2) Mg B
(3) ST Y
(a) vi&

HEEieAqRH H v wieRi @ o awm 142,

T -
(1) =l g

(2) Teordl g
(3) 9=l gry
(4) =gt g

TE B g S 3 900 &) IS e o— 143

(1) aifer

(2) =<Ta
(3) Wi
(4) Frag

T S e vad B R 1 dr 144,

TE U
(1) iR &=

(2) v

(3) arfR g

(4) i

witig g g Mide @ aas 8- 445
(1) Ja<a

(2) wered ant

(3) TavER yER

(4) wrferams

(45)

Social Science

In the early Rigvedic period, what was
considered to be the most valuables
property—

(1) Land
{2) Cow
{3) Grains
{4) Water

The Rath temples at mahaballipuram were
built by—

(1) Cholas
(2) Paliavas
(3) Chedis
(4) Chalukys

Who was the ruler of "Vatsa’ during the time
of Buddha-

(1) Bodhi

(2) Udayana
(3) Satanika
(4) Nichakshu

Who among the following called himself the
‘Parrot of India’-

(1) Amir Hasan
(2} Jaisi

(3) Amir Khusrau
(4) Faizi

. The famous book "Geet Govind" is written by—

(1) Jayadev

{2) Mahadevi Verma
(3) Jaishankar prasad
(4) Kalidas

Contd.



148.

147.

148.

149,

150.
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RN WediaTs o S 8-
(1) ot

(2) TR

(3) genEmEn

(a) Tifera

T ¥ fG e & Peoy T8 T - 147.

(1) s
(2) rETiR
(3) wmEwET
(a) W

R A geomem am Freafafa § w148

e FF o

(1) &

(2) 3

(3) germeht
(4) B

W@ § 1857 & Al @ K RvE 149,

farar e

(1) oi=ra AEA

(2) = wrEd

(3) woa wEe

(4) < ag
“PAATICHIS F -
(1) v& e

'(2) afre B

(3) sigvE
{4}%3&@@

(46)

146.

150.

The birth place of Maharani Laxmibai is
situated at—

(1) Varanasi
{2) Kanpur
{3) Allahabad
(4) Gwalior

Who among the following emperors was
called ‘Qalandar'-

(1) Akbar

(2} Jahangir
(3) Shahjahan
(4) Babar

Who among the following were the first to
bring a printing press in India—

(1) Dutch
(2) British
(3) Portuguese

(4) French

Who was the leader of 1857 Revolt in
Lucknow-

(1) Zeenat Mahal
(2) Nana Sahab
(3) Hazrat Mahal

(4) Tantya Tope

What was ‘Kamagatamaru'-
{1) A ship

(2) An Industrial centre
(3) A harbour

(4) An army unit

Conid.



151.

182.

153.

154.

1585

156.
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e # sftear srewy &1 T & di- 151.

(1) vyl Fer Tt A

(2) avqeen A

(3) v =ty wEEIgEmT A
(4) ST BREEE A

qrEY B T W B wRig R
(1) R=rar

(2) o THo T

(3) vo aito ww

(4) I TrEVER

WS 7S B g Bl
(1) gfam o= Tl

(2) werem e A

(3) =il TurT wweEd |
(4) IrApwT qRAER A
‘gl e feram—
(1) sreget <EW QAT
(2) il

(3) gt wifer g
(4) IgA B

Freiferfre % & @ ifr =8 2- 155,

(1) e if-wem Seage

(2) dli wifa—foete S
(3) ¥ Fif—am-—Rea I
(8) #Ra_ wifd—wrer=1 S
AT afera 8-

(1) mie1 99 & PR

(2) 7iEd 7h B R

(3) O ) & fAR

(a) 7Y T & AR

(47)

152.

153.

154.

156.

India House in London was establised By—
{1) Shyamiji krishna verma

(2) Bartullah
(3) Virendranath Chattopadheyay
(4) Lala har dayal

Who is famous as ‘Deenbandhu’-
(1) Vinoba Bhave

(2) C F Andrewz

(3) A. O. Hume

(4) Veer Savarkar
‘Anand Math’ was composed by-

(1) Bankim Chandra chatterjee
{2) Mahatma Gandhi

(3) 8wami Dayanand Saraswati
{4} Ram Krishna Paramhans

Who wrote ‘Akbarnama'-
(1) Abdur Rahim Khankhana

(2) Faizi
{3) Abdul Quadir Badauni
{4) Abul Fazl

Which one of the following is not correctly
matched-

{1) Blue revolution - fish production
(2} Yellow revolution- oil seeds production

(3) White revolution-thermal power pro-
duction

(4) Green revolution-food grain production
Nasik is located along the river—

(1) Narmada

(2) Godavari

(3) Penganga

(4) Mahi

Contd.



157. ¥a ¥ AN vgw fw wow # wrw 157
feggem -

(1) P
(2) s/
(3) areumEd oW
(4) AmTTRITE
156, WG WA A W S = & 158,
(1) SeHAvS
(2) T
(3) =reT ST
(4) TETEEIEER
159. Rif¥ps B wromer & 159,
WEEE
() T
(3) TEYE
(4) Serm
160. fava wrien feaw w=mn W 8- 490
(1) 4 sraREe T
(2) 31 = =Y
(3) 10 RRwaR ®
() 11 s B
161. Ffeiae 3 @ - R & wew 161.
war TdY 8-
(1) A
(2) arre
(3) aerga
(4) Fafeforady

PNP-NTS-2018 (48)

In which one of the following states the
sun appears the earliest in India—

(1) Mizoram

(2) Assam

(3) Arunachal pradesh
(4) Nagaland

The highest peak of Indian Peninsula is—
(1) Oatakmund

(2) Anaimudi

(3) Dodabeta

(4 Mahabaleshwar

The capital of sikkim is—
(1) Agartalla

{2) Imphal

(3) Gangtok

(4) ltanagar

. The world population Day is observed on—

(1)4* october

(2) 31* May

{3) 10™ December
(4) 11 July

Which one of the following rivers is long-
est in the world—

(1) Nile

(2) Amazon

(3) Brahmputra
{4) Mississippi



162. WRa ¥ waif® S[E & g ana g 8- 162,
(1) e &mer A
(2) s wRw |
(3) wERTS; |
(4) TorRIE W
163, WIRT ¥ ¥R o W e B 163
(1) TS
(2) ¥en wew
(3) SR ued
(a) ATy
164, PER O WY AT AT ST BNAl 8- 164
(1) oR wew A
(2) TR ¥
(3) Bt
(4) vivar ¥
165, oAl w1 e frefafaa § A fewen 165.
TR B—
(1) SaR HIET
(2) =g uRad
(3) fo=1 vg Wm0
(4) TE™
166. frep1 ¢ sraftera 8- 166,
(1) doma 9§
(2) wm ¥
(3) afferg A
 (4) oMfm ¥
PNP-NTS-2018 (49)

In India highest production of Jute comes
from=—

{1} West Bengal

{2) Andhra Pradesh
{3) Maharashtra
{4) Rajasthan

. Where are diamond mines in India-

{1) Karnataka

(2) Madhya Pradesh
(3) Uttar Pradesh

{4) Tamil Nadu

The largest quantity of saffron is produced
in-

(1) Uttar Pradesh
(2) Kashmir

{3) Kerala

(4) Goa

Which one of the following is caused by
the rotation of the earth—

(1) Tides

(2) Change of season
(3) Day and Night

(4) Eclipse

Chilika Lake is situated in—

{1) Punjab

(2) Assam
{3) Tamil Nadu
(4) Odisha

Contd,



167, Er—a1 TER Wi firg ¥ waftg & 167. Which city is dedicated to Lord Shiva-

(1) TRRT (1) Mathura
(@ 5@ (2) Puri
(3) argveam (3) Ayodhya
(4) I (4) Varanasi .
168. Rurd & 3ifw sem o Jeaers Rem 8— 168, The Headquarter of Reserve Bank of
(1] ﬁ-&ﬂ ﬁ India is in-
(2) sad # (1) Deini
(s) TR {2) Mumbai
(3) Nasik
(4) TR (4) Kanpur

160, WSY AN I G wifta 8- 169, National Dairy Research Institute is
established at-

(1) & o
F {1] Karnal
hTE ; (2) Hisar
(3) s A (3) Anand
(a) WYX # - {4) Jaipur
170, gEAE ¥ WRG & g E- 170. Who is the present president of India-
(1) =t gor Taﬁﬁ (1) Sri Pranab Mukerjee
(2) £t Ty RiE {2) Sri Rajnath Singh
(3) 4t ey WS (3) Sri Ramnath Kovind
(4) ¥ Wi oy i (4) Sri Gopal Krishna Gandhi
174, AR SR T B A AAT AR 174, Which part of the Indian constitution deals
} Heft 3- ' with citizenship—
(1) T v (1)Part IV
(@) (2) Partll
(3) W |
(3)Part!
(4) wrT N
(4) Part

PNP-NTS-2018 {50) Contd.



172

173,

174,

175.

176,
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freifefera 3 o5 o awelia sRizr@wr 172, Which one of the following is the major

P T Wl B—

(1) Yshtard) siefegaven

(2) TmToTaTE) Seferawen

(3) B areferaren

(4) S A ¥ #iE A8

U AerErar fRaw wAw o 8-
{(1) 15 919 FI

(2) 25 SFad @

(3) 15 wXaY

(4) 25 Bl

TR wfays o A=fafa § 9 eF- 174,

argeRe wiv o1 e ARy 3 walte 3-
(1) =T 51

(2) g% 60

(3}:41@}&5::

(a) arge8% 380

Ty T wffaa 8-

(1) W @ |

(2) et ¥ #

(3) woa w& §

() SraRRre T

ST & e W P B B— 47

(1) s ad
(2) 6 ad
(3) 3 ad
(4) 4 7d

(51)

feature of the Indian economy-
(1) A capitalist economy
(2) A socialist economy

(3) A mixed economy

{4) None of the above

. National voter day is celebrated on-

(1) 15" january
(2) 25" january
(3} 15" February
(4) 25" February

Which one of the following Articles of
Indian constitution is related to Indian
foreign policy—

(1) Article 51

(2) Article 80

(3) Article 50

(4) Article 380

. Panchayati Raj is included in the—

(1) Union list

(2) Concurrent List

(3) State List

(4) Residuary List

The tenure of Rajyasabha member is—
(1) 5 years

(2) 6 years

(3) 3 years

(4) 4 years



177, sTEEY © Hrafire amRisi dwen g 177 International Institution related to labour

welfare is—
(1) Thew (1) UNICEF
(2) o o 3ho (2)1LO
(3) wwo To o (3) FA.O
(4) %o w0 S0 (4)CNT
178, "SEITAHER SNATH ATAAT BT X % T 478, in which year was the 'Pradhan Mantri
i gl Awas Yojna' launched—
(1) 2012 (1) 2012
(2) 2014 (2) 2014
(3) 2015 (3) 2015
(a) 2017 (4) 2017
179, TGOS U BN WG §é— 179. Uttarakhand State was created in—
(1) ¥ 1999 # (1) the year 1999
(2) = 2000 (2) the year 2000
(3) w2001 & (3) the year 2001
(s) & 2002 ¥ (4) the year 2002
180, 'Rafen hear & dws §- 180. Who is the author of 'Rebooting India’-
(1) fora TR (1) Shiv Nadar
12) < oo (2) Sundar Pichai
() e e (3) Nandan Nilekani
{4) Tem rsd ke

PNP-NTS-2018 {52) Contd,



Tfora

181 [ 44y) &1 qof quf @ @ fIT W= 181, Tomake (v'+4)') perfect square we

182

183.

184.

PNP-NTS-2018

E1—
(1) 4w
@) 2y
(3) 2

{4) 4_?'1',1:2

Maths
have {o subtract—
(1) 4y
@) 2»%’
(3) 2y«
(@) ay’s

UE GHS S 3 of¥arg 24 o & 182. The perimeter of a right angled triangle is

of gaa vl & 79 10 I & @ 59
B @1 drwa 8-

(1) 24 @t IR
@) 10 = &
(3) 12 ot I
(4) 48 TF ¥R

24 cm. If its hypoténuse is 10 em then

area of this triangle is—
(1) 24 cm?
{2) 10 cm?
(3) 12 cm?

(a) 48 cm?

FPrforfRaa 3 Jm,,,fm,,rm 1 91 2 183. Valueof Jig4 J25+ 121 Inthefollowingis-

(1) &
(2) 3
(3) 4
(4) &

af R (1,2),(3, 5) T (0.6) R B 184,

a7 b % AH 23—
) 3
@) %
@) 2
(@) -1

(63)

(1) s
(2) 3
(3) 4
(4) &

if points (1,2}, (3,5) and {0,b) are co-
linear then value of b is—

(1) 3
@ I

2
(3) 2
(@) -

Contd.
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186,

187.

188,
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Frfofe fo # & agag &
(1) 727 -35Jx +45

@) P24

[:3} X2 - o

@) Jrasp-1

Ife; v 9 W U e o Fsand 20 3 & 186,

arerT # & oiR gt Fargdt @ AR
4 : 38 A gD ST BT IR BM—

_{1} 16 : 27

(2) 16 : 81
3) 16: 9

(4) 27:18

T STER S B gH R 187,

TS 20 T Tn et 14 T 8, drerd
& 9 HisT oien ¥ 39 wor i
4o T AHYD B—

(1) 180 WP

(2) 200 IHP
(3) 280 T
(4) 190 ¥

185. A polynomial in the following is—

(1) 722 =5¢x+45
@) 224

) -

{4} Jr+sp-1

If the radii of a cone and a cylinder are
in the ratio 2 : 3 and their heights are in

- the ratio 4 : 3 then the ratic of their

volumes will be-

(1) 16 : 27

2} 16 : 81

(@ 16:9

@) 27 .16

A rectangular piece of paper of length 20
cm and breath 14 cm is folded about its
breath the curved surface area of the cyl-
inder so formed is-

(1) 180 em?

(2} 200 em?

{3a) 280 cm?

(4) 190 cm?

ofe TSI 9 ARRS DIV F 5 1,188, If an angle is five times its supplementary

& I% o -
(1
(2
(3) 144°
(4) 40°

75"
50°

—

)
)

{54)

angle then the angle is—
(1) 78°

(2} 150"

{3) 144°

(4) a0®

Contd.



189, IR (v-1) TEUE -kt 411v—6 &1 U 189. Thevaluaufoorv-ﬁmh[r-1}|safactur

180.

191.

192,

183
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TUEYE B @ K &AM 8-
(1) -8

(@) s

(3) 2

(4) 8

afg feg wg o # 0

o A - s
(1) 90* AUB

(2) s0°
(a) 20°
(4) 40°

IR A ABC TH i mwr frge & 191

forer ZC=110" o fmfefaa % @ @54
W UF FAF U B

(1) AB=AC

(2) AB<AC

(3) AB>AC

{4) AB<BC

uﬁmﬁuﬁra’rwﬁﬁzﬂmwmz

a“cﬁﬂ’fmﬁ.
(1) 30 3R 20
(2) 10 &% 40
{3) 25 3R 25
(4) 15 3f¥ 35
R 5::05.4~—il£;‘n.ri=n‘fﬁ.‘w FT

20054 - Sind
A ST difa—
19

U
@ i

@) 3
(4) 1

. Given

(55)

of the polynomial y* _ ke + 1 15— 6 18—
(1) -

(2) 5

(3) 2

(4) 6

. Ifin the given figure

‘0’ is the centre of the G

circle, then the value G
: 0
of x is-

(1) a0 A 0 B
(2) 50°
(8) 20
(4) 40°
if A ABC is an obtuse angled triangle in

which »c =0 then which one of the
following is true-

(1) AB=AC
(2) AB<AC
(3) AB=AC
(4) AB<BC

The number 50 is divided into two parls
siijch that the sum of their reciprocals is
5 then these parls are—

(1) 30 and 20
(2) 10 and 40
(3) 25 and 25
(4) 15 and 35

Sposd-125imd =0 evaluate—

Sinnd+ Cosd

1[”0_?‘-; = Sind
(1) ﬁ

@2
@) 3

4) 1

9

Contd. -



154,

Prerfe 3’ 8- Jit¥as

Gﬂ"i-.'l“'-‘iﬂ'“.'f

B +1
{4} ek

afe lugll_lng4[10g f}:!} Lil x BIAF %— 195,

(1) 18

() &

(3) 4

(4) 32

X
=b 194,

' in the following is ?=-—3~—--:: =

v ;ff;;
) 22

a+b

a+h
(8)5—

(4) £41
2ub

If 1og [Iug_,(lug_ 5" }].—. u then the value of
is-

(1) 16
) 8
(3) 64

(4) a2

196. U WER P AN, SFEE 8000 ¥1198. The present population of a city is 8000 jf

197.

PNP-NTS-2018

afe g gy ¥ gad 10% B gfE iR
oo dgwicongfg iz ar @
a¥ geawR S el

{1}12@0

(2) 14400

(3) 10560

(4) T & g &

it increases by 10% during the first year
and by 20% during the second year. then
population after two years, will be— -

(1) 12400
(2) 14400
(3) 10560

(4} None of these

1 1.1 R e 2
R r =79 235" ﬁiﬁr;+;+; FAA T 167, If 50 _ 7¢ = 35~ then value of F+;+; ig-

(1) 1

(56)

(1) 1
(@) ~1
{3) o
@ >



408. fdt fte @ gaE ¥ 100 #ieX Sars 4x 198. The angle of elevation of a cloud from a
fer e fag A frdt aras @1 9994 point 100 metre above the surface of a
A7 30° Ryt # gEe wRfdw W lake is 30° and the angle of defression of
ST VT 60° ST AT | E?IEI_% A its image in the lake is 60°then height of

q 9= F S B— the cloud above thelake is-
(1) 100 # (1) 100 m.

(2) 50 # (2) 50 m.

(3) 200 # (3) 200 m.

(4) 150 (4) 150 m.

199, 8 B @ UH |qg @ WA (3fRT) 190, The mean height of group of 8 students is
Srarg 152 Wt # | <) o, R S 152 cm. Two more students of heights 143
B 143 WA T 156 A 2, 3l a7 T cm and 156 ¢m join the group. The new
£ | 39 PR GYF &1 T Ay (o) mean height of the group is—

2

(1) 151.5 ¢m
(1) 1515 99
(2) 115 cm
(2) 115 9
(3) 152 ¥ (3) 152 cm
(4) 200 D {4) 200 cm
200. IR “EE"E 2, el p o q oW e 200 If ”~3=f where p and g are relatively
amTon guiies B, @1 g &1 A - prime integers, then value of g is—
(1) 10 (1) 10
(2) 3 (2) 3
(3) 1 (3) 1
(a) 9 (@) 9

PNP-NTS-2018 (57)





